
 

Vraag gesteld in Toelatingsexamen Burgerlijk Ingenieur in Gent ,  

Tweede zittijd 1975 

Bewijs dat 

⌈
𝟏 𝒙 𝒚
𝟎 𝟏 𝒙
𝟎 𝟎 𝟏

⌉

𝒏

=  ⌈
𝟏 𝒏𝒙 𝒏𝒚 +  

𝒏(𝒏−𝟏)𝒙²

𝟐

𝟎 𝟏 𝒏𝒙
𝟎 𝟎 𝟏

⌉ met n є 𝑁0 

 

Oplossing 

Recursief : voor n =1  klopt 

Dan ⌈
1 𝑥 𝑦
0 1 𝑥
0 0 1

⌉

𝑛

=  ⌈
1 𝑥 𝑦
0 1 𝑥
0 0 1

⌉ ⌈
1 𝑥 𝑦
0 1 𝑥
0 0 1

⌉

𝑛−1

=

⌈
1 𝑥 𝑦
0 1 𝑥
0 0 1

⌉ ⌈
1 (𝑛 − 1)𝑥 (𝑛 − 1)𝑦 +  

(𝑛−2)(𝑛−1)𝑥²

2

0 1 (𝑛 − 1)𝑥
0 0 1

⌉ = 

⌈
1 (𝑛 − 1)𝑥 + 𝑥 (𝒏 − 𝟏)𝒚 +  

(𝒏−𝟐)(𝒏−𝟏)𝒙𝟐

𝟐
+ (𝒏 − 𝟏)𝒙𝟐 + 𝒚

0 1 (𝑛 − 1)𝑥 + 𝑥
0 0 1

⌉ = [
1 𝑛𝑥 𝑛𝑦 + 𝑛(𝑛 − 1)𝑥2/2
0 1 𝑛𝑥
0 0 1

]  



( (n-2)(n-1)/2 + (n-1) = n(n-1)/2 

 


